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INSTRUCTIONS

ach question is printed both in English and in Kannada.

Answers must be writlen in the mediun specified
(English or Kannada) in the Admission Ticket issted 1o
you, which must be stated clearly on the couver of the
answer book in the space provided for this purpose. No
credit will be given for the answers written in a medium
other than that specified in the Admission Ticket.

Candidates should attempt questions 1 and 5 which are
compulsory, «and any three of the remaining questions,

selecting at least one question from each Section.

All questions carry equal marks.
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SECTION A

Answer any three of the following, each in about 200 words -

(a)

(b}

(c)

ta)

(b)

‘Accounting is the language of business.’ —— Explain.

Rules relating to determination of residential status of an
individual under the IT. Act 1961, o

Investment Centre, _ 3

Special points_ in the audit of a banking comipany.

‘One of the central issues of modern accounting thought is the
question of making price level adjustment in accounting data.’
— Give your opinion on this issue and briefly explain the Current
Purchasing Power techmque of price level adjustment,

The paid-up share capital-of a company consists of 1,000, 5%
preference shares of Rs. 100 each and 20,000 equity shares of
Rs. 10 each. In addition to a fixed dividend of 5%, the preference
shareholders are also entitled to participate in the profit upto 4%
after payment of a dividend of 10% on the equity shares. Any
surplus profits are to be distributed among equity shareholders.

The annual average profits of the company are Rs. 50,000 after
providing for depreciation and taxation, and it is considered necessary
to transfer Rs. 3,000 per annum to the reserve fund. The normal rate
of return expected on preference shares is 8% and that on equity

shares is 10%.

You are required to work out the value of ecach preference share and -

equity share in the company.
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(b)  Jena Manufacturing Company Ltd, manufactures and markets

single product. The following data are available

Per unit

Materials Rs. 16
Conversion cost tvariable) Rs. 12
Dealers’ margin (10% of sales) Rs. 4
Selling price Rs. 40

a

Fixed cost Rs, 5 lac
Present saies 90,000 units
Capacity utilisation 60%

There is stiff competition. Extra efforts are necessary to withstand
the competition in the market, The following suggestions have been

made for increasing sales -
Reduction in sélling price by 5% per unit,
. OR
Y
Increase in dealers’ margin by 25% of the existing rate.
Answer the following questions
i) What is the present break-even sales (in units) ?

(1) Which of the aforesaid two supggestions would you recommend i the

company desires to maintain the present profic ?
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Ko Sundaram receives the following incomes during e year ending
March 31, 1998 .'

Salary @ Rs. 5,500 for 12 months _ 66,000
Leave trave] concession for proceeding

on leave to home district

(actual expenditure Rs. 4,100) 3,800
Lunch allowance 4,000
Reimbursement of ordinary medical

expenses for treatment of R. Sundaram

and his family members from a doctor 26,300

Besides, R. Sundaram enjoys the following perks -
Free unfurnished flat at Delhi (fair rent Rs, 40,000

Besides, the employer provides two watchmen
(Salary : Rs. 600 Pm. per person)

Free use of Marutj 800 for official purposes. Car can also he uged for
Journey between office and residence and for other domestic purposes
Hog-book is not maintained by the employer),

Free refreshment (outside the place of work) - Rs. 7,350 (1.e., Rs. 35
per day for 210 days. The amount js directly paid to the canteen by
the employer).

Though the salary falls due on the last day of each month, the salary
of March, 1998 is received on Apri) 15, 1998,

Determine the taxable income of R Sundaran
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SECTION B

Answer any three of the following, each in about 200 words

(@) Wealth maximisation ebjective of financial management,

(b)

(c)
(d)

fa)

Management of receivables 15 an Important aspect of finaneisl
management.” — Elucidate this statement,

Functions of 1.D.B.I.

Holder in due course.

Discuss the alternative policies that a firm may adopt in relation to
the financing of working capital.

X Company Ltd. is examining two mutually exclusive proposals for
new capital investment. Out of these two proposals, any one has to
be approved. The data relating to the proposals are as under :

Proposal A Proposal B

Net cash outlay Rs. 40,00,000 Rs. 50,00,000
Salvage value ' Zero Zero
Estimated life 4 years 4 years

Earnings before depreciation
and taxes ;

' Bs. Rs.
Year 1 " 12,00,000 18,00,000
Year 2 14,00,000 20,00,000
Year 3 16,00,000 22.00,000
Year 4 22,00,000 22.00,000

Use straight-line method of depreciation. The minimum required rate
of return is 10% and the company is in the 50% tax bracket. The
present value factors at 10% for 4 years are

Year 1 2 3 4

P.F. Factor 0-909 0826 0751 0683

Using Net Present Value method, you are required o advise as Lo
which proposal would be financially favourable.
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(@) Explain fully the MM (Modigliani and Miller) approach to capital

structure. How does it differ from the traditional approach ?

th)  The following is the capital structure of X Co. Ltd -

{a)

{h)

Rs.
Equity shares (5,000 shares of Rs. 100 each) -. 5,00,000
12% Preference shares 2,00,000
16% Debentures - 3,00,000
Total - 10,00,000

Equity shareholders expect dividend @ Rs. 10 per share. Market price
of each cquity share is Rs. 100. Sharcholders expect growth rate of
4-59% for cver.

Compute the weighted average cost of capital,
What is the statutory protection to the paying banker ?

A firm s contemplaling an inercase in the crodit period (rom 30 Lo
60 days. The average collection period which is at present 45 days
is expected Lo increase Lo 75 days, 1L is also likely that the bad
debt expenses will increase from the current level of 1% to 3% of
sales. Total credit ‘sales are expected to increase from the current
level of 30,000 units to 34,500 units. The present average cost per
unit is Rs. 8, and':the variable costs and sales per unit are Rs. 6
and Rs. 10 respectively. Assume that the firm expects a rate of
return of 15%. '

Should the firm extend the credit period ?
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SECTION A

Write shopt hotes on any three of ihe following in not more than
200 words cach : '

() Mezms-cnd Chain
(b)  Porter and Lawler mode] of motivation
(c) Participatjve leadership X

(d)  DBases of power

What is contingency approach of Organisation Theory 2 How is it related
with Systemsg Approach ? Doeg this explain the pattern of organisational
design adequately ?

Distinguish between formay and informal organisation and discuss the
merits and demeritg of informal organisation.

What is the concept of organisationa] conflict ? Are organisational
conflicts always dysfunctionaj ? Explain fully,
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6.

SECTION B

Write short notes on any three of the following in not more than
200 words each

(a)  Wage Board
(b} Role of outsiders in Indian labour unions
(c) Works Committee

(d})  Personnel research

What do you understand by the term Industrial Relationg ? Discuss its
objectives and scope,

In what ways has the labour policy of the government fostered and
impeded collective bargaining in Indig ? Has it made trade unions weaker
or stronger ?

‘Prevention of disputes is good for industrial peace.’ — Elucidate this
statement and explain the machinery for prevention of industrial disputes
in Indix.
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